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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

L(b)

1.(c)

1.(d)

1.(e)

2.(a)

gusg ‘A’ SECTION <A’
fraforfea vt § ¥ v@® F1 I T 150 9T F A

Answer the following in about 150 words each :

U W R y=rew fRarwamal @ Ase F it fdier Hifg |

Distinguish between Net Profit and Cash from Operating Activities. 10
fer aReufwat @ awa & il ges = € 2

What are the various components of cost of fixed assets ? 10
ara FeEw ok e # = h ¥ fiw fadigw St |

Distinguish between cost control and cost reduction. 10

=EEE T wSW A S R e (@1 froerr ) & defta s
g &1 quie hifsg |

State the provision of law relating to carry forward and set off of business loss. 10

S et o o e aRA W O aar whes e Al gt w fEw
HAN S fadem R |

Discuss the special points that an auditor would take into consideration while
auditing the accounts of a banking company. 10

Sis fafties 3w gefie o fomn Rt 2,00,000 SR ¥R Al ¥R T10 =
weaa feeafafeaa s=f @ fam -

Waed & a6 —  F1ufd IR

A & T —  F5ufa R

(F2, Nfirw & Tm)

Ygell W1 ) —  F3ufa ™R

(s & 3 wfgw =)

gifem | w® —  F3ufa ™R

(veeht | % 3 wigw =Q)

23 3 H 3,27,000 MR F forq 3maeT T frd sk 30 s 9 =@ WeR amefea

fébw | ,

R wrefea

() i 3reea — 38,000
(i) 3m&eT & 2 WK ImEfd  —  1,60,000
(i) &Gt & 1 WK s — 2,000
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2.(b)

T41,000 1 %S AEGH H goa amvm R (41,000 WA F ameEt @,
e # smeies @ gon) | ¥ @ 9w R Pl Red 100 9 W ¥ Ry
sifc wi AR ) T A A 15 AEER B ST W RET T ek 16 TEeR @
A W 9 fy IR W Gl fopar @ |

IR e R For smavae wHe (e W) wlifat St (Rem aviw ¥) |

Z 1td issued a prospectus offering 2,00,000 equity shares of ¥10 each on the
following terms :

On application — %1 per share
On allotment — %5 per share
(including premium of ¥2)

On first call —- ¥ 3 per share
(3 months after allotment)

On final call — %3 per share

(3 months after first call)

Application money was received for 3,27,000 shares on 23rd April and allotment
made on 30th April was as under :
Shares allotted

(i) Allotment in full — 38,000
(ii) Allotment of Z of shares applied for —  1,60,000
(iii) Allotment of 1 of shares applied for — 2,000

Cash amounting to ¥41,000 (for 41,000 shares applied for upon which no allotment
was made) was returned to applicants forthwith. The amounts due were received on
due dates except with the final call on 100 shares. These shares were forfeited on
15th November and reissued to 4 on the 16th on payment of ¥9 per share.

You are required to give the necessary journal entries (without narratives). 20

q &t fafies @ & ol & S o=t @ | R © o B 1,00,000 T
IArA #1 ¥ frafafas arm st @ .

(%)
U |t — 59@
TaE 5 — 8¥@
it s/amr sufes — 6 @@
fer sram gufeaa — 59

T W T ¥22 R | WR A W IR A @ier s @ A ot Br wRam
Safera 1 =t e wg 9 fafa § 32 W @ = @ sam
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2.(c)

3.(a)

=1feq :

(i) RS ST =T A1 @le Wi, A A gT R PR et S @ @ A
Suersy glaamd fafsra gift 2

(i) PR IueE D g swar fRe @l W F 21,50,000 R R W Q@
ST gl §, = @ faola | ?

A B Ltd manufactures auto parts. The costs incurred for processing 1,00,000 units
of a component are as follows :

(T in lakhs)

Direct material — 5
Direct labour — 8
Variable factory overhead — 6
Fixed factory overhead — 5

The purchase price of the component is ¥22. The fixed overhead would continue to
be incurred even if the component is bought from outside although there would be
a reduction of ¥2,00,000.
Required :
(i) Should the part be made or bought when the present facility released remains
idle in the event of purchase ? and

(i) If the released capacity can be rented out to another company for
1,50,000, what would be the decision ? 15

e i ARl Ffe | e frmt F smwia fiyes fame @@ afssa glve
FT qAET P BT § ?

Define perquisite. How are rent free accommodation and medical facility valued
under income tax rules ? 15

Y¥ o I ¥ @ e awiva € ) QA e awkwE ses g atnga € |
g gefaal o1 ferur 3@ 9K R -
wwfa (1) wmfw (1)

4 3
aiffer wyfafaae qearea —  1,20,000 1,15,000
aiffe St fomn — 1,50,000 1,75,000
it A foreman — 1,00,000 1,65,000
frmfor oof g & fafx —  31.3.2009 31.3.2009
T & TRE 3 WA & — 12% 8%
e & e awfadl & e & fog,
fog g o ) =™ == = 55,000
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3.(b)

3.(c)

YA R amfy Mo vl o= fan @ ) wmfa 1 W o s 1 Y I wwmia
FE H T Fufor ad F foag K

Hd1E
() Yo wmfa @ afinda wnfer g & fag 39w ¢ ek
(i) T|& fog wRw s@m |

Y has two houses in Chennai. He has self-occupied both the houses. The particulars
of the houses are as follows :

House (I) House (II)

b L2
Municipal value per year — 1,20,000 1,15,000
Fair rent per annum — 1,50,000 1,75,000
Standard rent per year — 1,00,000 1,65,000
Date of completion of construction — 31.3.2009 31.3.2009
Municipal taxes payable during the year — 12% 8%
Interest on amount borrowed for repair
of both the houses during the current year — Nil 55,000

Y has paid the municipal taxes for House II only. It is due for House I. Compute the
house property income of Y for the assessment year.

Advice : :
(i) Which house should be opted by Y to be assessed as self-occupied ? and

(ii) State the reasons for it. 20

1w /aR|O (P/V) GO ¥ AU FT AI9d ® 7 OTER T0ET S et © 7
To-forsae fawwmw Stzdt § saht «=n Swfia € 2
What do you mean by P/V ratio ? How is it computed ? What are its uses in BEP

analysis ? 15

YO A9 Ud AT 39eqd &1 391 Aaed § ? WehH ona faior § e
fore waR frefa fen wan @, wE fifg |

What is meant by normal wastage and abnormal wastage ? State how are they treated
in process costing. 15
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4.()  wose fafies A 31.03.20X1 7% H g Frafla 2

-
2000 ¥Rt 9=, wiy = 100 — 2,00,000
1000, 6% 9N, Wed® T100 e 1,00,000
FRIYA hI AT ARE>T — 12,000
RS AER = 50,000
wrht gfeafmad = 2,00,000
=1e. wikaatagi — 65,000
et afwafEt s grfwre — 1,06,000
el ufkaaft w1 gesie — 48,000

frfafya @ = gof senfy v =mem $ e o6 .

() M H TS5 wAF R Iv-fnfra fer w3k 90% YR w1 Yo (W)
forar |

(i) FH GREl F FA @ RN TR 59,000 Frr T ok W fn IR
¥20,000 % SR IR (WRk A #F A) ff sefeq Ry W

(ii) SRR 9 T B 30,000 F A R TeHT T PreF 1 R 9 v I
* ¥ TR W R wF g e T |

(iv)ﬁwﬁaﬁﬁaﬁi%mwmqr@gammﬁaﬁgq,m@%mwl
gAftatn & for s stravre s (Fea w9)) wiifat 4R w2

The following information relates to Cloud Ltd as on 31.03.20X1 :

L4
2000 Equity shares of 100 each — 2,00,000
1000 6% Debentures of ¥100 each — 1,00,000
Interest on Debenture outstanding — 12,000
Trade Creditors - 50,000
Fixed Assets = 2,00,000
Current Assets _— 65,000
Fixed Assets revalued at — 1,06,000
Current Assets revalued at — 48,000

The following scheme was duly agreed and approved by the court :

(i) The shares were sub-divided into shares of ¥5 each and 90 per cent of the
shares were surrendered.

(ii) The total claims of debenture holders were reduced to ¥59,000 and in
consideration of this, they were also allotted shares (out of surrendered
shares) amounting to ¥20,000.
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4.(b)

4.(c)

5.(a)

5.(b)

5.(c)

5.(d)

5.(e)

(iii) The creditors agreed to reduce their claims to 30,000, % of which was
satisfied by issue of equity shares out of those surrendered.

(iv) The shares surrendered but not re-issued were cancelled.

You are required to draft the necessary journal entries for the reconstruction. 20

yaria frsaea & won A Aeegyt et @ gee # faeem fifvg |

Briefly discuss the important methods of measuring divisional performance. 15
fasrsa ww w=ar € 2 ot et 3 ghfvaa son fs @iy & e oot § @
a5t fopar wmam ?

What is divisible profit ? How could an auditor ensure that the dividend is not paid
out of capital ? 15

gus ‘B’ SECTION ‘B’
freafofaa uwt # ¥ ws &1 IR T 150 vt F Qv
Answer the following in about 150 words each :

MEA 1 WR TAEH Aled W Fiforg ok 50 wea & savfa e feafy & i
HfT svmfe At 8, o Hifs |

Explain Gordon’s share valuation model and state in which case dividend policy is
irrelevant under this model. 10

ifgn fam & e e & fog ddem-d swe (Swmw) @i fadEm
Hfora |

Discuss the Decision-Tree approach for evaluating risky investments. 10
R A ara ok (SR i ar@ 7 & FAEr w7 gt @ R Fi 7

Out of cost of equity and cost of debt, which one is lower and why ? 10
TR frE yomelt & weat B F8w 7 foamm fifvg |

Briefly explain the components of Indian financial system. 10
wafrs s # aiefrat & I =S f faltmt =@ osasg |

Enumerate the methods of issue of securities in the primary market. 10
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6.(a)

6.(b)

6.(c)

TF IRAAT @ Tl kg WETE 3 AR €

EL] kg waTEg ()
0 = (=) 1,00,000
1 =— 40,000
2 — 50,000
3 — 40,000

St A 10% ¥ |

ot e ;. () ko A f osEfy (- diftas)
(i) Yg T T (AT I 47)
(iii) g % g Fu Gt f sl (Reasfs 3-dw dif)
(iv) "wEa g (Nfwefafardt $3m)

The expected cash flows of a project are as follows :

Year Cash flows ()
0 — (-) 1,00,000

1 — 40,000

2 — 50,000

3 — 40,000

The cost of capital is 10 per cent.

Calculate : (i) Payback period
(ii) Net present value
(ii1)) Discounted payback period
(iv) Profitability Index

PR 3R &R Afed ® I A T, TEUHT AT A A% IV F FW At

¥ I @1 oar €, oy difsa |

Explain how with managerial intervention cash balance is maintained within

limits using Miller and Orr model.

freafafaa srmat = e fifvg o st ga Fifvg -
(i) uReufmEt | wfawa (3R 3 ©)

iy faffm it ) wfewar (s s <t §)

(i) R w| wfwa (3R s 3)
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Define and compare the following ratios :
(1) Return on Assets (ROA)
(ii) Return on Capital Employed (ROCE)
(iii) Return on Equity (ROE) 15

7.(a) ﬁwﬁr&maﬂa@ﬁav&%ﬁﬁlﬁznwﬁﬁﬁuﬁmﬁAaﬁB%mﬁa
‘WHTTﬁﬁI'Q:
(i) v S oA

(i) fofa sAew &t wEn
(ili) 99 IS 6 Ty

T
farsht 90,000
gfadt s 45,000

gftfeafe 1 15,000
gfdfefa i 20,000

e fasfg s
TISET A 20,000
TrsHT B 10,000

Calculate degree of
(i) operating leverage
(i) financial leverage
(iii) combined leverage
from the following data under situations I and II and financial plans A and B.

?
Sales 90,000
Variable cost 45,000
Fixed operating costs :
Situation I 15,000
Situation II 20,000
Fixed financial costs :
Plan A 20,000
Plan B 10,000 20
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7.(b) mﬁﬁ%wqﬁmwmma@%ﬁ%@aﬁmﬁmﬁ%ﬁm

R & @ ¢ | FeataRea siwe Sawew €

(¥°00000)
g fafiee | o fafies
9 T d 40 20
R W H gen (amEt #) 5 4
dt /€ sruT 10 8

7.(c)

EGLERIE
() T fafies ok o fufies & ¥ 1 SR T |
(ii)m%ﬁéamaéﬁﬁ%gaﬁmﬁa%%ﬁqaﬁmmmﬁ
& e |
Gii) foem ¥ o T ffies ¥ a9 | wen |

X Ltd is contemplating taking over Y Ltd by issue of shares based on market price
of shares. The following data are available :

(¥°00000)
X Ltd Y Ltd
PAT 40 20
No. of equity shares (in lakhs) 5 4
P/E ratio 10

Find :
(i) Market price of shares of X Ltd and Y Ltd
(i) Number of shares to be issued by X Ltd for taking over Y Ltd
(iii) Number of equity shares of X Ltd after merger. 15

Wwﬁﬁ%&ﬁ%%ﬁﬁzmaﬁ%ﬁmwéﬁﬁ%waﬁa%m
fafea € 7

What are the powers vested with the SEBI to protect the interests of investors in the
stock market ? 15
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8.(a)

8.(b)

8.(c)

S FRARYE IT wrEenl &1 30 RF @ SUR W it € | soh adum fasht
HER TS50 NG ¥ | WA G ARE 10% € R fuh @ aRewli ww s
0-85 & |

Sfa IUR s&fr | SeER 60ﬁammﬁmﬁﬁﬁaﬂzﬁ%|wm%m
& T fooht <5 e siftres =g Soh | fooR & T gEa WO W sEE 1% @ TR
2% B W@ |

SUR Al S | N W UG 9T UHE B YA HY | o H S9Em % iR
T F 360 fe7 5w |

Zenith Corporation provides 30 days credit to its customers. Its present level of sales
is ¥ 50 lakhs. The firm’s cost of capital is 10 per cent and the ratio of variable costs
to sales is 0-85.

Zenith is considering extension of credit period to 60 days. Such an extension is

likely to push sales up by ¥ 5 lakhs. The bad debt proportion to sales would rise from
1 per cent to 2 per cent.

Evaluate impact of extension of credit period on profits. Ignore tax and assume
360 days a year. 20

ol TR & TF ot A (AT AR ToH) A # wE Rl |

T FH H RS AT 15% R S RO AT G ® | T S AT WIS AR
TAH VYO G5 ARTT T BRM ST KW G SIATT 40% & ?

Explain NOI (Net Operating Income) model of capital structure.

A firm’s cost of equity at zero leverage is 15 per cent. What would be its overall cost
of capital at 40 per cent leverage under NOI model ? 15

Trg fraker & s w1 W € ? Wusmd (wfee wfafim @ fed) & )
wo<h @ frafkor seiyomeh | we fif |

What do you mean by credit rating ? State the credit rating methodology followed
by CARE (Credit Analysis and Research) 15
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